





3x3x + 2y2y = 1111

2x2x + y = 8
22






2x2x + y = 8

x − y = 1
21

3x3x − 3 = 5x5x + 720

7x7x − 8 = 4x4x + 131319

1
3
(5x5x − 2y2y) − 1

2
(x − 3y3y)18

5(2x2x − y) − 3(2x2x − 3y3y)17

10a10a10a2b − abab % 3a3a16

30x30x30x2y + (−5x5x) % 4y4y15

− 6
5
a2 %

1010
3
a14

20x20x20x2y + (−4xy4xy4xy)13

−8a8a % 7b7b12

(45a45a45a − 5b5b) + (−5)11

6(7x7x − 3y3y)10

7x7x − 3y3y − 2x2x + 5y5y9

(−2.5) % 0.68

1212
7
+ (− 9

1414
)7

(− 5
9
) % (− 3

1010
)6

− 1
4
+ 2
3

5

5 − 3 % (−2)4

2424 + (−6)3

4 + (−9)2

−3 + 71

NO.1NO.1NO.1NO.1






5x5x + 2y2y = 4

3x3x − y = 9
22






3x3x + y = 9

2x2x + y = 7
21

2x2x + 3 = 6x6x − 720

12x12x12x − 8 = 7x7x − 319

x − 3y3y
2

−
2x2x + y
5

18

5(a − 3b3b + 1) − 2(a − 2b2b)17

15ab15ab15ab15ab − 9ab9ab9ab2 + 3b3b16

36ab36ab36ab36ab2 + 3b3b + 4ab4ab4ab15

1414
1515

abab2 + (− 2121
2525

abab)14

(−32xy32xy32xy32xy2) + (−4xy4xy4xy)13

−9a9a % 7b7b12

(30x30x30x − 12y12y12y) % 1
6

11

−7(8x8x − 3y3y)10

11a11a11a − 2b2b − 5a5a − 3b3b9

−4.2 + 0.68

− 5
6
+
1010
9

7

(−4)2 % 1
1212

6

− 1
3
+ 2
5

5

1212 − 8 + (−4)4

5 % (−4)3

5 − (−2)2

−3 − 41

NO.2NO.2NO.2NO.2






2x2x + y = 6

3x3x + 2y2y = 7
22






3x3x + y = 1414

2x2x − y = 6
21

3x3x − 9 = 10x10x10x + 121220

5x5x + 5 = 3x3x − 319

1
3
(5x5x − 2y2y) − 1

4
(3x3x − y)18

4(2x2x − y) − 3(x − 2y2y − 1)17

10a10a10a2b − abab % 4a4a16

63xy63xy63xy63xy2 + (−9xy9xy9xy) % 4x4x15

(− 1212
5
x2) + 3

1010
x14

−32a32a32a2b + 8ab8ab8ab13

(−6x6x) % (−8y8y)12

(28a28a28a2 − 7ab7ab7ab) + (−7)11

(7x7x − y) % 410

7x7x − 2y2y + 4x4x − 6y6y9

(−0.6) % (−0.9)8

− 7
8
+
2121
1616

7

− 5
8
%

4
1515

6

− 2
3
− 1
4

5

7 − 3 % (−2)4

(−1818) + (−6)3

(−4) + (−5)2

−1111 + 41

NO.3NO.3NO.3NO.3

ドリルプリント　２年生「連立方程式」後Ⅱ








3x3x + 2y2y = 8

2x2x + y = 6
22






2x2x + y = 1313

x − y = 2
21

4x4x − 5 = 7x7x + 720

9x9x − 7 = 4x4x + 131319

1
3
(2x2x − y) − 1

4
(x − 3y3y)18

3(x − 2y2y) + (x + 5y5y − 7)17

20ab20ab20ab20ab − 12ab12ab12ab12ab2 + 4b4b16

32x32x32x2y + (−4x4x) % 3y3y15

− 9
4
a2 %

8
3
a14

24x24x24x2y + (−4xy4xy4xy)13

−8a8a % 9b9b12

(30a30a30a − 6b6b) + (−6)11

7(5x5x − 4y4y)10

8x8x − 2y2y − 3x3x + 5y5y9

(−2.5) % 0.88

1212
5
+ (− 9

1010
)7

(− 7
9
) % (− 3

1414
)6

− 1
4
+ 2
5

5

6 − 2 % (−4)4

4848 + (−6)3

6 + (−1111)2

−5 + 81

NO.4NO.4NO.4NO.4






5x5x + 2y2y = 1616

2x2x − y = 1010
22






3x3x + y = 1111

2x2x + y = 6
21

2x2x + 5 = 4x4x − 720

11x11x11x − 9 = 7x7x − 119

2x2x − y
3

−
3x3x + 2y2y

5
18

3(−2a2a − b + 1) − 2(a − 3b3b)17

8a8a2b − abab % 5a5a16

48ab48ab48ab48ab2 + 6b6b + 2ab2ab2ab15

8
1515

abab2 + (− 1212
2525

abab)14

(−40xy40xy40xy40xy2) + (−5xy5xy5xy)13

−9a9a % 6b6b12

(56x56x56x − 16y16y16y) % 1
8

11

−8(6x6x − 5y5y)10

13a13a13a − 4b4b − 6a6a − 5b5b9

−3.2 + 0.48

− 5
3
+
1010
9

7

(−3)2 % 1
1212

6

− 2
3
+ 1
5

5

1515 − 9 + (−3)4

6 % (−4)3

6 − (−3)2

−7 − 41

NO.5NO.5NO.5NO.5






2x2x + 3y3y = 9

3x3x + y = 1010
22






5x5x + y = 1313

3x3x − y = 1111
21

2x2x − 4 = 5x5x + 111120

7x7x + 8 = x − 101019

1
5
(4x4x − 3y3y) − 1

4
(x − 3y3y)18

2(3a3a − b + 4) − (a − 2b2b + 5)17

24ab24ab24ab24ab − 18ab18ab18ab18ab2 + 6b6b16

56xy56xy56xy56xy2 + (−8xy8xy8xy) % 6x6x15

(− 1212
5
x2) + 8

1515
x14

−27a27a27a2b + 9ab9ab9ab13

(−7x7x) % (−4y4y)12

(36a36a36a2 − 24ab24ab24ab24ab) + (−4)11

(9x9x + 5y5y) % 610

9x9x − 3y3y + 5x5x − 7y7y9

(−0.6) % (−0.7)8

− 1515
3
+
1010
9

7

− 5
2121
%
1414
1515

6

− 5
6
− 1
4

5

8 − 3 % (−3)4

(−4242) + (−6)3

(−3) + (−4)2

−1515 + 61

NO.6NO.6NO.6NO.6
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